2. Match the words from the passage to the definitions.

a) climate c) edible e) eguator g} wvanish

b} contain d) entire f) pasture

1) . to have something inside or include something as a 4y . suitable or safe for eating

RES 5 to disappear or stop being present or existing
2l land covered with grass that is suitable for feeding _ - ;

animals on 6 the typical weather conditions in a particular area
3 imaginary line drawn around the middle of the earth 7o whole or complete, with nothing missing

8) 1T3CME f) 2000
b) 14%: o B) B00
€} B%6: o h) 70%: o
d) 1A0: )
&) 3000: . .o 125000

4, Answer the questions according to the passage.

a) What is the best title for this passage?

c) Where are temperate rainforests located?

e] Why do rainforests cover less land today than in the past?

fl  Atleast how many million species of plants, animals and insects live in tropical rainforests today?

How did you find this number?



